ENGLISH VERSION

General Instructions ;

Read the following instructions very carefully and strictly follow them :

ft) This ,;.;,_-,_:rirm paper containg 60 questions out of which 50 questions arg
i bpattempted. All questions earry equal marks.
ercongists Lhree Seclions = Section A, B and C.

(ir) | Thisquestion pap
Attemnpt any 20 questions [rom

fiii) " Section — A contains 24 questions.

Ques. No. 110 24.
(iv) Section - B contains 24 questions. Attempt any 20 questions from

Ques. No. 25 to 48.
(v) Section = C conlains 12 questions.
Ques. No. 49 to 60,
fvi)  The first 20 questions tn Section A & Section B and first 10 questions
attempted in Section C will be evaluated,

only one correcl oplion for eveny Mulliple Choice Question
swering more than one

Aftempt anyadl questions [rom

(vii) There 15
(MCQs). Marks will not be awarded for an

option.
(viii) There is no negative marking.

SECTION-A

Identify which.of the following is an example of non-debt capital receipt.

1.
(Choose the correct alternative)
(m) Fiancial aid from MNC for victims in {lood affected area.
(b) " Borrowings from International Monetary Fund (IMF).
(c) = RéCovery of loans from State Governments,
() Dividend paid by State Bank of India (SBI) to the Government.
2: is the difference between value of export and import of services;

transfers payments in a given period of time r 3
(Fill up the blank with correct alternative)

(b) Net Invisibles (Sexvices)

{(d} Current ﬁcﬁp],lﬁf--:uf BROP

1 i

r

(a) Balance of trade
(¢) Trade surplus
3. is not related with banking system. | ) -
(Fill up_ftlﬁgg:t{l@qlgﬂvith correct alternative)
(a) DBank rate T .d‘:}"" Fiscal deficit

3 ; ) ; -
(c) Credit creation A | i&} Cash reserve ratio
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on the credit side of gurrent

Which of the following item will be entered :
et alternativie)

i.
account in Balance of Payment of ieountry ? (Choose the corme
() lmport of Machinery

Borrowings from abrond
{dy Forvign Direct Investment

{Il:l
(@ Export often

h Read the following statements carvefully and choose the correct alternative .
Statement-I : The demonetisation of currency wias undertaken by Indian
government on November 8, 2016,

larity of eewallets ig Indig= 5

Statement-Il : Demonetisation has increased the popu
W

Both the statements are true,

(a)

{t) Both the statements are false. B
() Statement-11s true, Statement-I1 is false. _' b
(d) Statement-I1 is true, Statoment-I is falsc.

. manages public debtof the government.
(Fillap, the blank with correct alternative)

6. Central Bank ns

(n) Custodian of Foreign -E.'Il"l.lﬂl'luﬂ.'.;ﬁ'll} Apent
() Financal Advisor (d} Supervisor

7. Read the follgwing statements carefully and choose the correct altermative : :
Statement-1 & Public goods are non-sxcludable. 2 1-;»-'_.
Statement-J1 : Consumption of public goods by people is of rivalous nature. LAV
{(n) ~Both the statements are true. - ]

(b) Both the statements are [alse. o] F
(# Statement-l is true, Statement-11 s false. : ?':} =
. = ; . W
(d) Statement-I1 is true, Statement-I 1s folse. *d ,-;L‘:q,,
.'::-h i
Price of ane : 3 Iati o b T

8.  Price of one currency in relation to another Etlrrﬂqﬂjﬁ.}!nﬁmﬂd by the

free markel forces, 1s known as r @ )

. | Vi
(Fill up t with correct alternative)
(a) Equilibrium Price . (M) change Rate
(c) Foreign Exchange Rate 11-‘ I;" Flexible Exchange Rate
- % .
OBR/2/4 ik, age 3 P.T.O.
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Process of eredit creation by commercial banks comes to an end when

9.
(Fill up the blank with correct alternative)
(a) Fresh deposits with Banks become zero,
(b) Reserve Ratio become zero.
(©) Moneymultiplier becomes zero.
(d)s Total mohiey reserves become equals to initial deposit.
10,  In First ‘Tndustrial Policy Resolution’ of Independent India was
announced. (Fill up the blank with correct alternative)
(m) 1947 by 1948
(¢ 1951 (d) 1956
11. During colonial period, estimates of on nationalgncoms and per
capita income were considered very significant.
(Fill up the blank with correct alternative)
(a) Dadabhax Naoron (b) William Dighy
() V.K.R.V. Rao (d) R.C.Desal
12. Match the items of Column-1 €0 Column-Il & choose the correct
alternative : d B
. Column-l Column-11
A. | Goods produced by small sgale | 1. Tax Reforms
industries were dereserved.
B. | Foreign Investment limit | ii. | Foreign Exchange Reforms
| raized to around 50%. s
C. | The rate of corporation tax, has | i, | Financial Sector Reforms - K
been reduced. £ B
D. | Markét determines exchange | v Derogulation of Industrial Sector, ;J _‘,‘-‘-
. I'rates system was adopted. @ -
(8) A-iv B-m C-i D-ui
(b) A-iii B-iv C-i D-u
() A-iv B-ii C-1 D-i y
(d) A-iii B-iv C-ii D-i L
v
13. is not a type of land reforms introduced h ent of India,
after Independence. (Fill up the k w ct alternative)
() Land ceiling
(b) Abolition of intermediaries %
{c)* Change in ownership of lnnd
(d) Use of High Yielding Vm;
O6EIA age "
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1.

17.

Id.

18,

Rond the following stutoments carefully Gnd choose the correet alternntive
Statement-l : The Planmng Commission has defined poverty line on the
basiz of minimm calort intake of an individual in o day,

Statement-11.: Monthiy Per Capita Consumption Expenditure (MPCE)
method 158 also tsed to determine poverty line in India

(1) Both the statements are true,

(b) Both the statements are false,

()  Statement-I is true, Statement-11 is false.

{d) Statement-Il is true, Statement-1 is false

In 1991,

wag the immediate mmpact of devaluation of Indian
Rupee

(Fill up the blank with correctlternative)
(4) Increase in inflow of foroign exchange

(b)  Decrease in inflow of forcign exchange

(¢) Increase in outflow of foreign exchan g

(d)  Fall in foreign exchange reserve

was known as Architect of In il':m Emnnm 1e Planning.
(Fill ubﬂ:r- Blank with correct alternative)

(a) Pandit Jawahnr Lal Nehru ®) Dr. Manmohan Singh
&) P.C l'l.i:-lh.:lI.mu.hif. (d) Dr.B.R. Ambedkar

Identidy tho incorrect statement from the following :

(Choose the correct alternative)

(a) Horteultwe has emerged as o successful sustainable livelihood

option for farmers in India,
()  Horticulture is an important se
value addition in agriculture.

(@ 1India is blessed with sup i
portive elimatie and soil
horticulture, m“‘h“““ﬁ s

() Horticulture is the business yal E-
4 ated
distributing food graing, ¥ P"“"’““"l& é't?)

Budgel is used as an

ctor for potential diversification and

; important o s
1 fn l.‘l‘nnr}m:l,' " : i . “l“:} ]“E‘tmmt‘!ni m&ﬂurtllﬂ.tlﬁl‘lﬂ
In the Hght of above line : lﬂltertmhm_]
budget. % icentify thu e "‘H"nh-“"m”“ of governmoent
(4)  Allocation of resolrces !
)

(€}  Growth of the economy @l | n%‘%l:ﬁﬂm‘atmp of prices

I-HI-J-'I - LB} lﬁtﬁhuhnn q.f I‘m‘f

I *Pnga 5

r" .
‘ﬁ
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20.

21.

22

058/2/4 ue, Stgilihe
& age G

U ! s , et alternative :
19. Read the following statements carefully and choose the correct altes

Statement-I : Concept of absolute poverty is used to identify the number
of poor people 1in India.
Statement-II : Inerease in per-capita Gross Domestic Product (GDP)
helps in eradiction of poverty in a nation. .

(a) Both the statements are true. ’ 'f'
(b) Both the statements are false. st "B
(c) Statement-I is true and Statement-II is false. A% ,

(d) Statement-II is true and Statement-I is false. b '

Statutory liquidity ratio implies to that percentage of . , My
(Fill up the blanks with correct alternative)
(a) total deposits of the commercial banks which must be kept in the
current account, with the Reserve Bank of India,
(b) total deposits of the commercial banks which must be kept in the
form of liguid assets, with the Reserve Bank of India.

(c) met time and demand deposit liabilities of the commercial banks

;"h]i_"h must be kept in the fopm of cash, with the Reserve Bank of
ndia. 3

(d) net time and demand deposit’ liabilities of the

et 1 commercial bank
which must be kept with themselves in the form of ]

1quid assets,

Identify the incorrect statement in context of human capital

F # 3 ’ (Uhﬂﬂ.ﬁﬂ the c:ﬂrmct alt ]
(@) Hman capital is mtangible in nature, ernative)

['_i:f:l -Hu._mar; tapital is perfectly mobile.
©) Human capital is inseparable from its owney.

(d) Human capital cannot be sgld in market like commodity

I. I..L"l]l-' n t ] hE lli rg =l 1 l-l]ﬂ- Emnﬂmlﬂ

at "-’i'c'_']diﬂg lay :
: Ber tax reveny /
Statement-I] Tax reduct ions ¢ and curb tax evasion.

welfare expenditure of gnw::! st
(a) Both the Statements ape ¢ e
(b)  Both the Slatements gyp far.:te ®
() Statement-I is tyyp State i g
(d)- Statement.]| 18 1y I Py il

57
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]

Scanned with CamScanner



]

- 4 1I.- ) ¢ -
32. Read the following statemEE;:a;eﬁﬂh* and choose the correct alternative :

Statement-I : Sﬂl% rl'll'pa (SHGs) have emerged to fill the gap in
formal E?:uiht sy

State?t:'- 't Formal credit system in India, is not only inadequate but
N B
ﬁl not integrated with rural social community development,

mn
%tﬁe statements are truo,

@
Eg&; Both the statements are false, %
. j () Statement-l is true and Statement-11 is false. u
I
(d) Statement-II is true and Statement-1 is false. e l

33. Which of the following statements do not supy t“h function of RBI
as supervisor to the commercial banks 20

(b) Formulates all rules

(©) Extend Lc.a.;mnﬁm_1 ercial bank.
(d) hw%ﬂ of banks,

34,

ul Rt ':]T L : Agricultural productivity was very low during ﬂia o
k -‘ . {1 .':;.‘L .-<.-i ' -

o Etntemnnt-ll In absolute terms, there was growth in ag
due to expansion °fﬂmﬂzﬂ.tewmm@g; i

(3) Both the statements are truc,

() Both the statements are false. |

() Statement-Lis true but Statementdil s
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23. During the second half of the 18/ century, the m“_”.n i’[l;.}._ﬁl.ili‘ mills mainly
il dominated by Indian entrépreneurs were located mainly in |
(Fill up the blank with correct alternative)
(a) Bengal (b) Maharashtra
wJ. Caleutta (d) Madhva Pradesh

24. The vaccination campaign for containing COVID-19 is an example of

medicine. (FFill up the blank with correct all.er:mt.ive)
(a) Preventive (bh) Curative
(c) Social (d) Emotional

SECTION - B

(=11

In context of current account, identify the ineorreet statement from the
following :

(a) Export of goods and services are recorded as credit items.
(b) Imports of goods and services are vecorded.as debit items.
(c) All transfer payments are pecorded fs.debit items.

(d)” All transfer receipts are'recorded as debit items.

If the Legal Reserve Ratio is 20% and Initial deposit is T 2,000, then value

of money multiplier and total money ereation will be and

(Fill up the blanks with correct alternative)
(@) 5,410,000 (b) 4, 8,000
(€) 6 2000 (d) 4, 10,000

27, Read the tollowing statements — Assertion (A) & Reasan (1) carefully &
choose the corpect alternative -

Assertion (A) : Post 1991, India h .
destination in the waorld.

Reason (R) : Indinn labour have skilled labouy foree.

(a) Both Assertion (A) and Reaso ind Resas:
y ason (R) are true an i i
torrect explanation for Assertion If.f!.?ll. ® e A L e
(b) Both Argortion (A) and R
correct exp)

as become the favoured q_ulsﬁﬁi“ruiﬂ'i:-

eAsOn ﬂl}}_nrn-'_t;;uu bt I“\-'HHH-I:}]I (R) is not (he

Anation for Assertion (A)..

{Z] Assertion (A) is true buy Reason: {R] y e Dl
(d)  Assertion (A) s : ) G e e,
0587204 G huLRP:;-f“'.-‘"{%J I8 true,
Page

P.T.0.

Scanned with CamScanner



2

8 'Co-operative marketing societies have faced a downfall in the recent
vears.'

[dentify which of the following was not a reason behind its downfall,

(a) Lack of co-ordination between processing and marketing societies.

(b) Inefficiont financial management

(¢) Inadeguate coverage of all the members

(dY ' Intervention of the government is most essential

Read the following statements — Assertion (A) & Reason (R) earefully &

choose the correct alternative :

Assertion (A) : Human Capital formation is a flow concepl.

Reason (R) : Stock is that variable which is measured at 4 gven point
of time, .

(a) Both Assertion (A) and Reason (R) are true and Zchsnh'[H].'iﬁ correct
explanation of Assertion (A),

¢

(b) Both Assertion (A) and Reason (R) are true butsReason (R) is not
correct explanation of Assertion (A).

(€)  Assertion (A) is true but Reason (R).is faldad
(d)  Assertion (A) is false but Reason (R)is true.

Which of the fo) lowing is meorreet about U rban poor ?

| g (Choose the correct i
(a) They usually possess few assets. HalSc
(b)  They work as unskilled workers.
(c)

choose the correct alternative - L

T
) .
ﬁﬁsﬁﬂinn {'ﬂ.} : Th b ﬁ
o+ Le purpose of license poliev 3 =3
equalilies. policy was to promoie i 1
e rflionls

Reason (R) - The mo 1 &S
: X tive of hicons: "ﬂ $
W the indusirig] pmdunl?nn‘ummg eI was to.mo ﬁ nd Eﬁi?rnl
a)  Assertion (A) and Reas : d%
; explanation foy Asae::;;;n:f:} HE KNS Ond
(b J‘Lﬁ!:'-l_"l'l.'tl‘_ln [A} aned R-Eﬂiﬁtln m} e .- o

torreet explanation fop Asgerti
. . sertu
() Assertion (A) 18 true but Reg

tments ~ Assertion (A) & Reagon (R) cnrufull:-.ésﬁ, ‘f :

Scanned with CamScanner
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d) "Lhey are usually landless. working as tenant cultivators | @ E: II
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36, Read the following statomoents = Asgertion (A) and Reason (R) carefully &
choose the correct alternative ;
Assertion (A) : Resérve Ratio and credit creation power of commercinl
bank are dircetly relnted.
Reason (R) : Credit C¥eation is the product of the reciprocal of Roserve
Ratio (RR) and Primary deposit,
(n) Both Agserfion (A) and Reason (R) are true and Reason (R} 15 the
correet explanation of Assertion (A)
(b) “Both Assertion (A) and Reason (R) are true but (R) is not the correct
explanation of (A).
()  Assertion (A)1s true but Reason (R) is false.
(d) Assertion (A) is false but Reason (R) is true.
36. If the value of export of merchandise is ¥ 1.500 crore and Tmports of goods
are 20 percent more than exports. The value of mmports and trade deficit

will be ¥ croves and ¥ crores respectively,
() 1800, 3300 (b) 1800, 300
(c) 1200, 300 (d) lﬂﬂﬂ;-::?&’mﬂ

37. ldentify the false statement in context'of India's l'nrmfn trade.
(@) Exporter of raw materigk

(by  Surplus in foreign trade acoount.

() Importer of finished goods.

(dY Import of n-:-mr;‘.ni‘_ﬂi p_e‘hi*]a- from Britain,

8. Read the following statéments carefully and choose the correct alternative :

‘:-tulemenbl Poverty line is that point of the meome distribution, which E )
dlﬂ.ﬂt v the [H.l].'lul-itlt}n of the country into rich and poor.
-Statt.ment-ﬂ The method of poverty line 18 used (o measure Relative 9
| Troverty. '® | :3
() Both the statements are true, S
(b) Both the statements are false. f«:g-__._r “ .._,_._3
(el Statement-] is true and Statement-1] js fulse, AW
(d) Statement-IT is true and Statement-] is false. s
|
39. Which of the following item is included in capital umuuﬁ}';q Balance of
payments of & country ? (Choose fhnftﬁp"m:t alternative)
(a) Interest and rent received from assets ;Hrgm] L -
(b} Income from banking services " 1 ‘1_.
(e) Remittances from ahroad Ny ‘L s
(d). Foreign Diyect In'.reatmont B ‘.Q
o
0581274 N age 10
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. " s gorrect
d0. Read the fl'l“l}'.\'}l:l: situtements m“-f-fu]l_'l..‘ JHH] choost the

alternative :
Aan

exchange rate system 18

(A) : Managed floating
xible exchange rate.

[l

Azsertion
amalgnmation of fixed exchange rate and fle
Reason (R) 3 Gentral Bank can manipulate the flexible exchange rale

syeELem,
Alternatives :
(a) “Assertion (A) and Reason (R) are true and (R) 18 correct explanation
of (A).
15 not eorrect

Both Assertion (A) and Reason (R) are true but (R)

(b)

explanation of (A).
(c)~ Assertion (A) is true but Reason (R) 1= false.

(d) Assertion (A) s false but Reason (R) 15 true.

Read the following statements carefully apd ¢hoose the correct alternative

41.
Statement-l : For poverty alleviation, the Goyernment of India adopted

three dimensional approach.
Lack of active participation of the poor, the gamns of

Statement-11 :
economic growth havebeen grabbed by the rich.

Alternatives : _
(ay Both the Smic-r'im'niiis are true.

(b) Both the Htatt, ments are false. "

(c) .‘:mtemt.ntd is true but Statement-I1 is false. o L 4‘,'.

(d) Statement-1I is true but Statement-I 18 false, SN y
0 - 1'-}'.'_“:-;-'

Read the following statements carefully and choose the correct Hllermtiﬁgt;j - )
Statement-I : All the coins are issued by Finanee Ministry in Indiay & '
All the currency notes are issued by Ru.dnw# Bﬂt?k‘nf

Statement-II :
India. 5 ‘g,
Alternatives : o R0
() Both the statements are Lric: i:rf; | &
(b) Both the statements are fulse. ¢ y Y
(cr Statement-11s true and Stammyt'-l Be.
(d) Statement-I11s true mdﬁﬁ- é&' 18 false.
0587214 Li age 11 P.T.O.
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YSAE0N (R
[ gt enptinr (AY and Reasol
1:{. ]L:'i.’.rE J||I1' rII:]l.Hll.':'l";_n\. statements I";I,'|'|'1|I||_'n. s _‘||_._:.|_'|||:|,] |
and choose the correc alternative from the following :
Assertion (A) -

. + cpmparison ol
Foveipn exchange rate supports the compa

international eosts ol prices { :
: wnew i Lerms
: . 1 Nen i 2 currgncy an wel
Reason {R)E: Foreipn exchange rate is the prive of 0ne
ol another commaoditios,
Alternntives -

(a)  Both Assertion (A) and Reason (R) are true and Reason (R) is the
correct explanation of Assertion (A)

()  Both Assertion (A) and Reason (R) are true and Reason (R) is not ‘the
correct explanation of Assertion (A)

(€)  Assertion (A)is true and Reason (R) is false,

(d)  Assertion (A) is false and Reason (R) 1s true.

4. _____ organization collect stalistics on poverty in India,
(@) Planning Commission (hy NS8O

(c)  Ministry of Statistics (d) "~ Ministry of Finanece

15. Read the following statements carciully — Assertion (A) and Reason (R) -

Assertion (A) : Rural development in India is
development of the nation.

Reason (R) : More than two-third of
agricultiire.

i core element for overall

India’s population depends an

From thesgiven alternative choosze Lhe correct alternative -

(2) “Both"Assértion (A) and Reason (R) are true and Reason (R) is the
correct explanation of Assertion (A).

() Both Assertion (A) and Reason (R) are true and Reason
correct explanation of Assertion (A),

(c)  Assertion (A) is true but Reason (R) is false.

(d)  Assertion (A) is false but Reason (R) is true.

(R) is not the

6. Which of the following statement 1s incorrect ?
{Choose the correct altérnative)
ta)  Balance OF Payment (BOP) 15 a flow concept.
() Balanee of Trade inchides export andimport of goods only.
\¢)* Charity to foreign countries is recorded in Capital account of Bop.
'9) " Balance Of Payment is brgfider corcept than balance of trade,
I!‘J,lu.,_.

Page 12
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5 D'mib“"““ of Outstanding Loan of Cultivator Househalds (Rural) %
S.No. Credit Agency 1971 | 2002
(1) Go me;] 7.1 1.7
(i3) tive Societios/Banks 22 30.2

ercial Banks 24 e %ﬂ
Traders 8.4 a8 ﬁ:‘h

L (v) | Relatives and Friends 13.1 6.2 { .ﬁJ

Sources : NSS 48t Round, Report No. 420, ’\ &;

NSS 59% Round, Report No. 501
Whi ituti : ta
hich Institutiona] Ageney (As given in the above shown the

. stimulates mnovation.
(@) Assertion (A) and Reason (R) are true and Reason (R) is

expianauun of Amrtmn W
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49.

51.

(d) Statement-11 is true and State Tiik Talse.

SECTION - ¢

Q. No. 49-54 are tobe answered on the basis of previous knowledge and
the text given below 3

The adoption of the socialist pattern as the national ebjective, require
that all industries are of stratesic importance. In the nature of ]}U]}IIL

utility, ‘services:should be in the hands of public sector. Other Industries

which are essential and require investment have also to be in the public
Beclon.

After considering all the aspects of the problem, the Government of
India decided to classify industnes into three categories. The central idea

behind this thought process is to ensure active role of government at all
levels (directly or indirectly).

Source : Industrial Policy Resolution. (30t April, 1956)
In the Industrial Policy Resolution 1956, Industries were classified into

categories.,
(a) one (b) two
(cy three {d} four

‘Under IPR 19586, the private se::u:-f*%an; ipi}t under state control through

licensing system. % B _-jﬂ.i

The objective of such pul:t'synw{;s-._ . (Choose the correct alternative)
(a) To promote reglnna] v,

(b) Toensure thatfproduetion exceeds what the economy required.

(c) Toensure that pr ‘&_’ sector enterprises should not create monopoly.
(dy Both ( £ b

=
Indste ] esolution 1956, formed the bass of five year plan. ri r
(a) © (b) second
tt:l- L () fourth :

Read the following statements carefully and choose the correct El[ﬁ-
Statement-1: Under IPR 1956, the First Category compri
exclusively owned by state,
Statement-11 : Second Category comprised of Industn tntu will
supplement private sector.

Alternatives :

(n)* Both the statements are true,
(b)  Both the statements are false.

(¢) Statement-l is true and Stat

De
m\‘b%
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which of the following statements 1s incorrect 2 _
' State had complete control over the industries, that were vita

) 1 for
a
ceonomy.
1 Industries left for private sector were kept under control of
eovernment through licensing.
(¢) License was not required for expansion. |
(@) The purpose of hcensing was to promote regional equality,

combination/pack of policy measures.

54. Industmal Policy 14 a
(a) mnarrow (b) finite

(¢) comprehensive (d) superficial

Q. 55 to 60 are to be answered on the basis of given data & Common

KEnowledge :
Budget 2021-22 — From Where The Rupee Comes ?
! Amount
\ S. No, \ Items (Paisa { Rupee)
| @ Tl Corporation Tax 13
i (i) | Income Tax 14
| @iy | Customs 3
| fiv) | Union Excise Duties 8
| ) l Goods :m_tj_?g[}:‘iﬂ- Tax 15
l (vi) | Non-Tax Revenue i
{vm) 'Iflnn-ih-.hl. Capital Receipts b
(vin) | Borrowing and other habilities 36
55, Whn_t i the percentage share of total tax revenue in governments total :1
recoipts 7 !
(m) 50% (b) 53% )
(c) DHO% (d) 45%

56, ldentify which of the following is not an example of non-Lax
I. Feesand fines
II. Income Tax
I1I. Borrowings

revenue 7

IV. Grants
(@) Onlyll (6] I and 1M1
(e) II Il and IV , d) Tandiv
DAR/2/4 I'nm: 16 PT.O
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which of vl f-ll:lll'.'-'lt'.:,i slalements w il

oi. EOvVernmaent |H.~|‘]*~-1.'-'.1'.-:_-' Inerenses

be incorrect for the current fiscal year 7
(2)  Primary defieit will inerense
(b)* Fiseal defigit will ineregse

e} Revenuedeficit will doeres i

(d) Covernment burden for future payvment will increase

w8,  Which among the following ig an example of Indirect Tax ?
(#) Income Tax (b} Corporation Tax
(€) Excise Duties {d)r Gift Tax

fiseal vear is 35,000 crores and interest

50 If rovernment borrowing for {he
value of figscal deficitwill he

payvments ave 5,000 crores Lhen Ul

(1) 36,000 erores th) 30,000 crores

(e} 40,000 crores (d}  7.000arores
60. Match the Hems of Column-T with Column-IT and chopse the correct Py :
|__,'—__——_—"'—__—_—_—-
| |' Il Column-I Column-I1 |
| __F_______“_L____-
| A, | Revenue Receipt |1, | Interest Paid ll
I -— —— - _— — . <+
| i 1 1 [ X . 3 -.
| B. | Capital Recoipt [ i | Grants received |
e Bl |
| C."| Revenue Expenditure II i, | Profits of PSU —I
|
| D, [ ]
(D || Capital Expenditure 1y, [ Loan repaid ]
—_ — :
(a) A—; by B—ii
le) O —ji; (d D=iv
s
=1
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